ML.A. (Previous) Main Examination — 2022

Time: Three Hours]

Note:

re:

/

Paper Code: 10811
2155

(New Course)

ECONOMICS

Paper — Third
(Quantitative Methods)

Attempt any five questions. All questions carry equal

marks.
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“This is an age of Statistics. There is no
problem 1n  Government, business  or
industry, which cannot be better tackled with
the help of Statistics”? Discuss the above

statement in detail.
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(a)

(b)

What do you understand by Linear
Equation? What points should be kept
in mind to solve linear equations?
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Define differential coefficient.
Explain the method of finding the
differential coefTicient.
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Three finm A, B and C supplied 40, 35 and
25 truckloads of stopes and 10, 5 and 8
truckloads of sang respectively to a
contractor. If the cost of stone and sand are
1,200 and %500 per truck load respectively.
Find the total amount paid by the contractor

to each of these firms by using matrix

method.
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The profit function of a firm selling x units
(x>0) per week in rupees is given by:.

P(x) = (400-x) x
How many units should be sold by the firm
to'make maximum profit? Also determine the
maximuin profit.
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6.

p(x) = (400-x} x
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Calculate the value of coefficient of mean

deviation from median from following data:
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| Class Interval | Frequency

| of g | amgfg
10-19 2
20-29 6
30-39 12
40-49 18 -
50-59 25
60-69 20
70-79 10
80-89 7

From the following data, find Karl Pearson’s

coefficient of correlation:
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“Price | Qy | Price | Qty |
o | AT | e | A
A 6 | %0 10 6
s |z | 0 2 | 120 ]
C 4 60 6 a0
D 10 30 12 24 |
E | 8 T a0 o T

Age of Husband Age of wife
ufd & My Tl B Y
18 18
20 19
22 20
25 23
28 27
30 30
32 31
Y 32
38 N 33
40 35
Calculate Fisher’s index no. from the (20)

following data and show how does it satisfy

the time reversal and factor reversal tests.
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From the - following data, calculate
association between nature of brothers and
sisters:
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Good natured brothers and good- 1220
natured sisters.
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Good natured brothers and sullen 859
sjsters.
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Sullen brothers and - .
RS ﬁ?ﬁzl;e;l;; o 780 (b) Frequency Histogram
Sullen brothers and good-natured 530 amgRy etz
sisters
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(c) Difference between Independent and

9. Interpolate Y, when X=23 (20) Dependent Variables

X=23 89 W B Y a7= Hfre- WAF 7 P =R F =R
X Y
10 ' 100
15 110
20 125
25 142
30 160
35 180

y Write short notes on any two of the (10+10)
following:
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